4 5 6 7 | 8
[cusTOMER |
A wrno.| DATE | REASON OF REVISION
3-M6X20 (=) 35
WIS :13 N-m \\ :4 32 L 39.2 . 6-M12x30
ﬁgE#EhTNépACED) ‘ | T/ @NLT 107 Nom 33 $19.45 9"
\ / : - : -
TORQUE: 13 N-m TIGHTENING TORQUE: 107 N-m |
A \\ 7 - \/
3 FHEEB BN I TREE (3Fk) ! LQ’
3 ADDITIONAL MACHINING f =
3 N ALLOWABLE RANGE P V |
3 (EQUALLY SPACED) ‘~ — 8 RSTTEYA(IER)
\ s ’ DRIVE PIN HOLE
3 (EQUALLY SPACED)
B3 ACCESSORY
3 o TR
$ o PLATE WRENCH 1 PIECE
3 BERATL N 1
B3 N LO
MB0x2.0 3 JRR 9 SOFT JAW 3 PIECES
16 3 N QS VIhY=3—:SJOBB 3 7
ANO—7 | ~|xz T-NUT 3 PIECES
8 STROKE = Trv 3 7
e JAW MOUNTING BOLT 6 PIECES
A n VS—BNRLE:M12X30 | 6 4
- ‘ LO| ©
' 6| < CHUCK MOUNTING BOLT 3 PIECES
M Foy TRGRIN :M12X 110 3
MAX 31.5 20 e
o MIN 15.5 !
cS THE GRIPPING FORCE IN EACH MOMENT OF
-1 o o Fj © ® @ MASS OF THE TOP JAW AND THE ROTATIONAL SPEED
N s o S . . 88 ’ R Ny 7y=—HE o B
9 © © \BL—YsZEYF 1.5 100, E-AY NEOEIIEEN
< N SERRATION PITCH 1.5 & 90 STANDARD SOFT JAW
1.5 S S~ T — N7
2 3-M5X10 (%) - = 80 S ~~ 133kg-mm
35 8 mENLT:6.4 Nom 2w ¥
- " (EQUALLY SPACED) T 60 | / \
1 TIGHTENING o 200kg-mm | \
N - — 2| TORQUE:6.4 N-m %@ - \ &
L ———] 2 wm 40—
= Eﬁ 2 . N
| B 3 RS = % L 30--—a-- 3_ 0_055_"_“1 _________ ?X.._\___
15 y =
o : |> 0.2 = g 20
® S ~ a 42.5  55-03 &
S = ~  3-M12Xx110 (%E) o
~ M——wgr~LT: 107 N-m 1000 2000 3000 4000 5000
: - : . . (EQUALLY SPACED) AEEE (min™!)
TIGHTENING TORQUE: 107 N-m ROTARY SPEED
' 1 " IREERE | AEGER
/ ﬂ; © e fL#& SPECIFICATIONS EXTERNAL GRIPPING |INTERNAL GRIPPING
- e O v TSIV v ANO—T 6
20 / 1 | N - g PLUNGER STROKE mm
ol B M=z Y=—2hO0—0 (B&ET) |, ,
\ | :} x i JAW STROKE (IN DIAMETER) ’ mm
I FFSBANT
5 VAX 25 ﬁb)‘é\ MAX PERMISSIBLE INPUT FORCE 35 {175 kN a0
BABNIEEN 90 45 LATHE . AYA BEDRR
9-M6x16 45 MAX STATIC GRIPPING FORCE KN KN MODEL ) Input force [ Limit
ML :13 N-m TS EOEEE 100 /
TIGHTENING TORQUE: 13 N-m | 12 | 91 MAX PERMISSIBLE SPEED 2000 min™ 60 A A ——— 354
) i 5= |- 1 T Enntmie _ ;7””@7 ******* N ”90”5\ kN /
103 241 ‘ 5000min QQ@ ()0‘“ ® ‘ N |
\ | = MASS g g —~ 50 54 ; b(6 &Q A 8 — 80 30KN: \ ]
2-M10 AUW=18" BN TR BT — AN o ©z | ~ W S Z |
\ 15 m2 - ‘ O ! y
(ZE. PTRLNA) ADDITIONAL MACHINING | MOVENT OF INERTIA Ke-m N // 20 N ‘ 25KN | \
2-M10 DEPTH 18 ALLOWABLE DEPTH B OEROEINEEN 36 S~ 40 / _— ~ 00— 60 : ‘ -
(EQUALLY SPACED. DYNAMIC GRIPPING FORCE AT MAX SPEED KN S %« ‘ 3000“\\ ap ‘ 20KN | N
By FOR EYE BOLT) EEGE - m 30 | 7 2y | |
2 ‘ T . GRIPPING RANGE $22 ~ $210 25 ///2500“\\ Sl o 40 ‘ 15kN-
< = = N p— | : |
1. N\SYAREHEIEE T2eMREDSEET 5, S B o i 20 , / o8 | 10kN |
< © YU>S: SR1566C) Q _— 2000min_ =
(VIhYs—EEFHN) S MAX PERMISSIBLE HYDRAULIC PRESSURE 3.2 MPa | 16 MPa [ " & l L RS & o0 ‘ l
2. MIOPIRLNBREBRTRSBDFEN (CPERATING CYLINDER: SR1566C) S 10 e g ‘ OKN .
3. YUYVSIHIERTIYAIY=—AEOERY—IHANO—TIT—0 S RIOBET 133 21 39
N ——— - (BR>U>S . SS1453) | | |
SMUDREESE DTSV Y v MBEREL TIES) 3.1 1.6 \ -
. MAX PERMISSIBLE HYDRAULIC PRESSURE MPa MPa 0 100 200 300 0 10 2C 30 40 50 60 70
4. FBHEF. B-208A600 BNEBREHHVFI. (OPERATING CYLINDER: $$1453) e - + 5
RO—7Fv bk B-208 DBAMLLETY. » SRR AOBE A eI DTS , ﬁ
\ (FRY>T: $1552) Standard soft Jjaws Specification
L AN A MAX PERVISSIBLE HYDRAULIC PRESSURE 2.6 mpa | 1-3 MPa ~ - =
NOTICE| (OPERATING CYLINDLR. S1552) My 7Y=s—EBBE—AK 3XmXr (kg -mm) EEHBNEmE= (mm)
A BIEE NN T DESDE Moment of mass of top Jjaws Gripping center helght
1. BALANCE SHOULD BE WITHIN 28 AT THE PERIPHERY OF BODY. CHFBERAAN
| EBERONSSEFvy JELEXD21mm = A CAREER 61P2867872 SCALE |TYPEBRO8ABK WEIGHT ke
OF BODY. (NOT INCLUDING SOFT JAWS) VJ LU P U U Btax ‘
2. M10 EYE BOLT IS NOT ACCESSORY. Max. static gripping force Is the values In the AL )11 8% TP PAWER”ZHlck 8
3. ADJUST THE POSITION OF PLUNGER AT THE CYLINDER FORWORDED \VIUV=A—y T (3FE) 7 owing cases. MANAGER | CHIEF |DRAWN BY 1:1
END SO THAT THE REFERANCE MARK OF MASTER JAW MEETS THE LINE GREASE NIPPLE Max. permissible 1nput force. (2021/01/22) _ INAMEBROSABK #1457
OF THE EXTERNAL SIDE OF THE STROKE MARK. A;EEQ,‘;%LLY SPACED) -Gripping center helght : 21 mm above the chuck preyes | W “&}Mulm B SRD ANGLE OUTSIDE VIEW
4. P - , body surface. | |
THIS CHUCK HAS THE COMPATIBLE ATTACHVENT WITH B-208A600 S Tools other than plate wrench for draw nut are ?ﬁﬁ‘]’nl} Kltagawa DATE E} DRW 61P 29 1004 O
DRAW NUT THREAD DIAMETER IS SAME AS THE MAX ONE OF B-208. not 1nc|uded. Corporation 21 01 19 NG | | |
1 | 2 3 T Lo 6 | 7 | 8 \



